No A B C D E F G H
KEE hR R BEER BHA BAX BAX BeA BiE
A FIER & | #hAK fi— | B KE|BIE BAE| BN = |F) A | 2L = | KB =F
FEAK 1123 1125 1144 1119 1130 1136 1147 1124
[:38 5 7 1 6 2 3 4 )

1frEnzE 437.9 58.2 0.0 48.8 20 11.5 22.3 40.7
&itm 0.0 379.7 437.9 389.1 435.9 426.4 415.6 397.2
1st stage
1 10.2 8.8 9.8 9.6 9.2 8.7 9.9
2 9.1 10.7 9.2 9.8 9.3 95 8.3
K 3 10.4 8.1 9.4 7.4 10.6 9.8 9.7
4 10.3 10.3 9.3 104 10.2 10.4 9.4
5 8.6 101 10.0 9.6 10.5 104 9.3
ait 0.0 486 48.0 47.7 46.8 49.8 48.8 46.6
6 9.2 10.0 8.5 9.2 10.6 9.9 10.0
7 9.4 8.4 95 8.0 10.2 9.6 9.9
K 8 8.9 9.6 9.2 9.7 9.9 104 9.2
9 85 95 9.1 8.9 95 104 10.4
10 10.3 9.1 9.9 10.2 10.4 9.7 10.2
ait 0.0 463 46.6 46.2 46.0 50.6 50.0 49.7
11 9.8 9.8 10.2 95 10.6 9.7 8.9
12 7.9 10.3 7.1 104 10.0 104 9.3
K 13 9.4 8.7 10.5 9.2 10.5 10.1 10.0
14 8.8 95 8.9 9.7 10.5 98 98
15 8.6 95 10.4 109 9.5 9.6 9.9
aE 0.0 445 47.8 47.1 49.7 51.1 49.6 47.9
1 9.9 9.9 9.3 9.9 7.6 9.3 10.3
2 9.4 10.2 10.5 9.9 10.1 10.9 101
P 3 10.7 9.9 10.2 9.3 10.4 10.0 10.4
4 8.7 10.3 10.5 10.2 9.4 10.0 95
5 9.6 10.5 10.6 101 10.2 9.1 10.4
ait 0.0 483 50.8 51.1 49.4 47.7 49.3 50.7
6 108 108 9.3 9.3 10.5 10.0 10.3
7 105 10.3 10.2 9.3 9.6 10.3 9.3
P 8 105 105 8.6 105 98 9.6 101
9 9.9 95 10.1 9.6 10.1 9.2 105
10 9.0 9.9 10.5 9.8 10.8 10.3 10.8
A&t 0.0 50.7 51.0 48.7 485 50.8 494 51.0
6 108 105 95 10.2 10.6 10.7 10.3
7 9.5 10.4 10.1 9.9 98 105 10.2
P 8 9.6 10.1 93 105 10.6 10.1 9.9
9 10.2 98 98 10.7 10.2 104 98
10 101 10.3 9.3 10.3 10.0 9.8 10.9
A&t 0.0 50.2 51.1 48.0 51.6 51.2 51.5 51.1
1 8.0 9.4 7.4 8.9 9.0 9.9 98
2 7.9 9.7 9.9 10.0 6.4 98 9.3
S 3 10.1 10.3 9.9 102 9.6 10.2 8.7
4 9.8 10.6 95 9.6 6.8 8.2 8.6
5 8.4 10.3 98 9.0 9.6 74 9.0
A&t 0.0 44.2 50.3 46.5 47.7 414 455 454
6 10.3 9.6 10.7 10.8 8.2 6.2 8.0
7 8.9 9.0 8.7 9.7 105 9.9 8.1
S 8 10.4 103 85 102 10.0 98 8.9
9 9.9 9.2 8.4 9.2 92 104 10.0
10 74 10.3 9.7 98 7.1 7.9 5.0
A&t 0.0 46.9 484 46.0 49.7 45.0 44.2 40.0
#was | 0.0 [ 379.7 [ 394.0 | 381.3 | 389.4 | 387.6 | 388.3 | 382.4
IR | 8 7 [ 1 6 [ 2 [ 7 [ 3 5
2nd stage
1 8.1 7.8 10.1 8.6 8.3 8.1
At - - 402.1 389.1 399.5 396.2 396.6 390.5
JE {2 - = 1 6 2 4 3 5
|
2 98 8.7 98 94 6.7
At - - 411.9 - 408.2 406.0 406.0 397.2
JE{L - - 1 - 2 3 3 5
3 7.3 93 98 9.6
A&t - - 419.2 - 4175 415.8 415.6 -
JEfL - = 1 = 2 3 4 -
4 91 92 10.6
| BEt - - 4283 - 426.7 426.4 - =
553 - = 1 - 2 3 - -
5 9.6 92
| _&Etf - = 4379 = 4359 — = =
553 - = 1 - 2 - - -




